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1 #include <iostream?
2 using namespace S.td_,. Enter a pos:.tlve'lnteger". 5 '
. The sum of the first 5 integers is 15

3 int main()

4 H{ int n;

5 cout << "Enter a positive integer: ";

6 cin >» nj

7 long sum=8;

8 for (int 1=1; 1 <= n; 1++)

9 . sum += 1i;
18 cout << "The sum of the first " << n << " integers is " << sum;
11 -}
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1 #include <iostream?>

2 using namespace std;

3 int main()

4 B {

5 fnr (int i=10; 1 > 8; i--)
B cout << " " << 1;
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1 #include <iostream?>
2 using namespace std
3 int main()

4 B {

5

6 cout << m <<
7 =}
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. 95%11
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" << m¥%n << endl;
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#include <iostream>
using namespace std;
int main()

{
for (int x=1; x <= 10; X++)
{ for (int y=1; y <= 10; y++)
; j cout << "\t" << x*y;
~ cout << endl;
}
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#include <iomanip>
#include <iostream>
using namespace std;
int main()

O oo~ B wh
{1

{
for (int x=1; x <= 10; X++)
= { for (int y=1; y <= 10; y++)
| j cout << setw(4) << x*y;
cout << endl;
10 | } '
11 '}
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1 #include <iostream>
2 using namespace std;
3 int main()

48{ int n, i=1;

5 cout << "Enter a positive integer: ";

6 cin >> n;

7 long sum=0;

8 while (i <= n)

g osum 4= i++;
10 cout << "The sum of the first " << n << " integers is
11 | << sum;
12 1}

nter a positive integer: 5

he sum of the first 5 integers is 15
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1 #include <iostream>
2 #include <conio.h>

3 using namespace std;
4 int main()

5E int n, i=0;

6 cout << "Enter a positive integer: ";

7 cin >> n;

8 long sum=0;

9 do
10 osum 4= ++i;
11 while (i < n);
12 cout << "The sum of the first " << n << " integers is
13 return ©;
14 |

Enter a positive integer: 5

he sum of the first 5 integers is 15
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1 #include <iostream>
2 using namespace std;
3 int main()

45

int N;

cout << "Enter a positive integer: ";
cin >> N;

cout << "Factorial (" << N << "): ";
long long f=1, i=1;

do

i ) Enter a positive integer: 5
- F *= i+4+g Factorial (5): 120

} 51 = 120

while (i <= N);

cout<<f<<endl;
cout<<N<<"! = " << f << endl;
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#include <iostream>
using namespace std;
int main()
{
int n,SN=0,SP=0,i=1;
do
{ :
cout << "Pls Enter "<<i<<" omin Adad:";
cin >> n;
(n>8) ?2SP=SP+n:SN=SN+n;
i++;
}
while (i <= 10);
cout<<"Sum Positive= "<<SP<<endl;
cout<<"Sum Negative= "<<SN<<endl;
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1 #include <iostream>
2 using namespace std;
3 int main()
4 e {
5 int n;
6 string m;
7/ cout<<"Pls Enter n :";
8 cin>>n;
k= for (int i=1;i<=n;i++){
10 | (i%5)?cout<<i<<™ ":cout<<"HOB ";
11 ¢ }
12 '}
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Process exited after 2.82 seconds with return
value 0
Press any key to continue
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cout<<"----for----"<<endl;
for (int i=1;i<=10;i++)
| cout<<i<<endl;

———for———-

=t D S0 =] T LR P L O

cout<<"----while----"<<endl; @

int i - 1 _; ————yhile———-
while(i<=10)

| cout<<i++<<endl;

cout<<"----do-while----"<<endl;
i=1;
do

0

——do-whi1le————-

| cout<<i++<<endl;
while(i<=10);
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for (int i=1; ; 1*=1000)

cout<<i<<endl;

for (int i=1; true; i*=1000)

cout<<i<<endl;

1

1000
1000000
1008000000
121319968
1030494976
1486618624
—009939084

1093835020
-402603184
1073141824
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for (int 1=1; 1<1000; )

cout<<i<<endl;
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cout<<“Hello"<<end]l;
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1 #include <iostream>
2 using namespace std;

3 int main()
4e8{ int n, i=1;

5 cout << "Enter a positive integer: ";

6 cin >> n;

7 long sum=0; S Cuwl opl Dreak guws slacs o jl S
8 while (true) il 4S | o il | . | )ad
95  { = o2l 0932 223 0 w3l ) dil> )99
10 - if (i > n) break; g el ddl> 095 sl giwd
11 Cosum 4= 144

12 ¢ }

13 cout << "The sum of the first " << n << " integers is " << sum;
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230 740 [y continue g break sl siws « K58 &b » ol

1 #include <iostream>
2 using namespace std;
3 int main()

40{ dint n = 1;

5 char c;

6 for( ; ;n++ )

7 & { cout << "\nLoop no: " << n << endl;
8 cout << "Continue? <y|n> ";

9 cin >> c;

10 if (c == 'y') continue;

11 break;

12 ¢ }

13 cout << "\nTotal of loops: " << n;
14 '}
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continue g break sla guws 3l o5l
A3 0 7 1y continue g break sl sgiws « 98" &l 9
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Loop no:= 1
Continue? <{yinx*

Loop no: 2
Continue? <{yinx*

Loop no:= 3
Continue? <{yinx*

Loop no: 4
Continue? <yin* y

Loop no:= 5
Continue? <yin* n

Total of loops: S5Press any key to continue . . .
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1 #include <iostream>
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2 using namespace std;
int main()

3

O oo JO v B

10
11
12
13
14
15
16

17 |

18

19 -

7 {

long bound;

cout << "Enter a positive integer: ";

cin >> bound;

cout << "Fibonacci numbers < " << bound << ":\n@, 1";
long f0=0, fl1l=1;

while (true)

{

long f2 = fO + f1;
if (f2 > bound) break;
cout << ", " << f2;

fo = f1;
f1l = f2;
}

cout<<"end";

Enter a positive integer: 1000
Fibonacci numbers < 1000:

@, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, 377, 610, 987end
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